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ZAE e 88 7'
s o

A 818 %) RS D e
m HA m (1,000) 100 (1,000) 100 1.00

gE
=Xt (500) 50 (495) 50 0.99
Of X} (500) 50 (505) 51 1.01

il
18-29A (142) 14 (152) 15 1.07
30-39A (148) 15 (150) 15 1.01
40-49KM| (170) 17 (172) 17 1.01
50-59A (201) 20 (196) 20 0.97
60-69A (183) 18 (178) 18 0.97
70M0]&f (156) 16 (152) 15 0.97

HEXY

M2 (186) 19 (186) 19 1.00
1M/47| (323) 32 (323) 32 1.00
E/ME/sH (109) 11 (109) 11 1.00
/™2t (96) 10 (96) 10 1.00
/8= (98) 10 (98) 10 1.00
fA/2i 8 (147) 15 (147) 15 1.00
2R/ F (41) 4 41) 4 1.00
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SEX 2L H(QQ)

S ZA2tE Atdls () V=4 71 A= ()
A A O Xt A At Of Xt

27 1000 500 500 1000 495 505

1829A 142 76 66 152 79 73

30394 148 79 69 150 78 72

A 40~49M| 170 88 82 172 88 84
5059 201 102 99 196 99 97

60—69A| 183 91 92 178 87 91

70M 0|4 156 64 92 152 64 88

27 186 88 98 186 88 98

1829A 32 15 17 32 15 17

30394 32 16 16 32 16 16

M2 4049M| 31 15 16 31 15 16
50594 33 16 17 33 16 17

60~69A 30 14 16 30 14 16

70M| 0|4 28 12 16 28 12 16

A7 323 163 160 323 163 160

1829A 47 26 21 51 27 24

30394 53 28 25 53 28 25

RIH/A7| 40~49M| 59 31 28 60 31 29
5059 66 34 32 65 33 32

60~69A 57 27 30 54 27 27

70A| O] & 41 17 24 40 17 23

A7 109 58 51 109 55 54

1829A 15 8 7 17 9 8

30394 16 9 7 15 8 7

H&/ME/5H 40~49M| 16 10 6 19 10 9
5059 21 12 9 21 11 10

60—69A| 23 12 11 20 10 10

70A| O] & 18 7 11 17 7 10

27 96 47 49 96 48 48

1829A 12 7 5 13 7 6

30394 12 6 6 12 6 6

/et 40~49M| 15 8 7 15 8 7
5059 21 10 11 19 10 9

60—69A| 17 8 9 18 9 9

70M| 0|4 19 8 11 19 8 11

27 98 49 49 98 48 50

1829A 13 7 6 13 7 6

30394 11 7 4 13 7 6

/45 4049M| 17 7 10 16 8 8
50594 22 11 11 20 10 10

60—69AM| 18 10 8 19 9 10

70M| 0|4 17 7 10 17 7 10

il 147 73 74 147 73 74

1829A 17 10 7 20 11 9

30394 18 10 8 19 10 9

S22 8 H 40~49M| 26 13 13 25 13 12
5059 32 16 16 30 15 15

60~69A 28 14 14 29 14 15

70A| O] & 26 10 16 24 10 14

A7 41 22 19 41 20 21

1829A 6 3 3 6 3 3

30394 6 3 3 6 3 3

Z /A= 40~49M| 6 4 2 6 3 3
5059 6 3 3 8 4 4

60—69A| 10 6 4 8 4 4

70A4| O] & 7 3 4 7 3 4
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[21] 68 320 &8 MAH7} o™-E ASLICE HAHM mY MLt EESHA| [ &L 7k?
R %
=4 | A% | o ® o o
ot etz =|E BIEA|l | JtSOHH ;Ea E}ia ®+® £/ 7
= A== | Al | REERE ok 2;7“; TH,H? HEEZS SE
(F) (F) Zo|ct ot Sy ‘it
m MH m (1,000) | (1,000) 87 8 2 4 0 100
g4
=Xt (500) (495) 87 8 2 2 4 100
Oo{ZH  (500) (505) 88 8 3 1 4 0 100
o
18-29M|| (142) (152) 79 15 4 2 6 0 100
30-39A1| (148) (150) 89 7 3 0 3 0 100
40-49M|| (170) (172) 90 7 2 1 3 0 100
50-59A|| (201) (196) 92 4 1 2 3 0 100
60-69A1| (183) (178) 88 7 2 3 5 1 100
70A| O & (156) (152) 85 9 4 1 5 1 100
HEX Y
M| (186) (186) 82 11 5 1 6 0 100
QIM/A7|| (323) (323) 88 8 2 1 3 0 100
CHE/MB/SH| (109) (109) 87 9 2 2 4 0 100
/™t (96) (96) 93 3 1 2 3 0 100
/25|  (98) (98) 86 8 3 3 6 0 100
BAZ24AE | (147) (147) 89 7 1 3 3 1 100
ZR/MF] @ 41 89 8 0 0 0 2 100
AHA AT 2y
A2l AZ| (231) (230) 89 7 3 1 3 0 100
2 AZ| (409) (409) 89 7 3 1 3 0 100
ot AE| (327) (328) 85 10 2 3 5 0 100
2E/ESE| (33 (34) 75 10 3 7 10 6 100
ol'd g%
FE| (237) (241) 94 4 2 0 2 0 100
=o| (369) (369) 87 10 1 2 3 0 100
H=l (326) (321) 86 9 4 1 5 0 100
DE/FSE| (69 (69) 75 10 5 8 12 3 100
XX
HE0{2IFE (389) (391) 95 4 1 0 1 0 100
= Rlolall  (312) (309) 87 9 2 1 3 0 100
ZIEAME  (50) (49) 9 0 2 2 4 0 100
NS AE  (66) (66) 88 9 3 0 3 0 100
TEE (9 9) 88 0 12 0 12 0 100
7IEPHE  (14) (14) 80 7 0 14 14 0 100
AS/ZE/ZSE (160) (163) 68 17 8 6 14 1 100
oMb 8 o
MIERZE| (874) (875) 100 0 0 0 0 0 100
A2IERS| (81) (81) 0 100 0 0 0 0 100
HEEZS| 42 42) 0 0 59 41 100 0 100
B2E/ESE| B ?3) 0 0 0 0 0 0 100
CHM QI
g MMEE| (366) (363) 88 7 3 1 4 0 100
HAH WA (525) (527) 92 7 1 1 1 0 100
2E/ESE| (109 (110) 64 17 9 9 18 2 100
fHER XXz
O|ZHH| (464) (464) 95 4 0 0 0 0 100
AE| (313) (310) 89 9 2 1 3 0 100
o|=A| (80) (80) 85 10 5 0 5 0 100
3 Q| A=E| (20) (20) 85 10 0 5 5 0 100
US/ERE/RSH| (123) (125) 57 20 11 11 21 2 100
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[E 2] Oid =& XX
[E2] ol ChEE MALo|2tH, MMEAME S TE & S70H FESHAIZS LI
BI|s 7|22 EyE=e|ELH L
EHS
X =7t
o | MEW logo 3me] Y BE RS o a.s s
b Aba| A}_C’A C==EH B! MEr e ESE S ;ﬁ; 1;;2 [/ P . |
T MET ome 2R+ ozy @z pme TEY U= S
€) €)
m A m (1,000) | (1,000) 46 31 8 1 0 1 0 8 4 100
g4
=X (500) (495) 47 28 12 1 0 0 7 3 100
Xt  (500) (505) 46 34 4 0 0 1 0 10 5 100
ol
18-29Ml| (142 (152) 28 20 19 3 0 1 1 16 13 100
30-39A|| (148) (150) 51 22 13 0 0 1 0 11 2 100
40-49M|| (170) (172) 64 22 4 1 0 1 0 7 1 100
50-59A|| (201) (196) 60 23 5 1 0 0 1 7 3 100
60-69MI| (183) (178) 43 41 6 0 0 1 0 5 3 100
70M| O| & (156) (152) 27 60 3 1 0 1 0 4 5 100
HFEXH
ME| (186) (186) 36 33 10 2 0 2 1 12 6 100
/A7 (323) (323) 51 29 8 0 0 1 0 7 4 100
i/ MB/EH-|  (109) (109) 43 32 8 1 0 0 0 10 7 100
2F/MeH  (96) (96) 80 3 8 0 0 0 0 6 2 100
/45| (99 (98) 32 49 7 1 0 0 0 9 2 100
BA/S2L/AdE| (147) (147) 37 42 8 1 1 1 1 5 4 100
ZRl/HMT  (41) (41) 55 23 3 2 0 0 0 9 7 100
A=A AS AN
22 AB| (231) (230) 45 32 12 1 0 0 0 7 1 100
2 AZE| (409) (409) 47 33 7 0 0 1 0 8 4 100
stel AZs| (327) (328) 47 29 7 1 0 1 0 9 5 100
RE/ESE (33) (34) 39 25 3 0 0 0 0 14 19 100
ol'd Mgk
| (237) (241) 78 7 4 2 0 0 0 6 2 100
=] (368) (369) 55 22 9 1 0 1 0 8 4 100
Ha=l (326) (321) 14 62 10 0 0 2 0 8 3 100
RE/ESHE| (69 (69) 36 22 0 0 0 0 19 18 100
X x|
H=0{ QI (389) (391) 96 0 1 0 0 0 0 2 1 100
2098l (312) (309) 2 89 1 0 0 1 0 5 2 100
Z2IHAMY|  (50) (49) 90 0 4 0 0 0 0 4 2 100
N (66) (66) 9 0 79 2 0 0 3 6 2 100
TR (9 9) 55 22 11 0 0 0 0 12 0 100
1EFEE  (14) (14) 7 49 0 29 0 0 0 15 0 100
A=/RE/Z2SHEH| (160) (163) 18 16 11 1 0 4 0 32 18 100
M 8 o
MIEHZ| (874) (875) 51 31 1 0 1 0 5 4 100
A2ZIEHRS| (81) (81) 24 33 10 0 1 0 1 20 10 100
HEES| 42 (42) 5 19 0 2 0 0 0 57 7 100
BE/ESE  (3) (3) 0 0 0 0 0 0 0 65 35 100
CHM QI A
A MEHE| (366) (363) 9 75 4 1 0 2 0 7 2 100
dH WA (525) (527) 79 3 9 1 0 0 0 7 2 100
RE/ESEH  (109) (110) 17 20 17 1 0 1 0 21 23 100
Mz E XX =
O|ZHFE| (464) (464) 100 0 0 0 0 0 0 0 0 100
AE| (313) (310) 0 100 0 0 0 0 0 0 0 100
O|=4M| (80) (80) 0 0 100 0 0 0 0 0 0 100
a2 2| (20 (20) 0 0 0 40 5 44 11 0 0 100
A=/RE/RSH| (123) (125) 0 0 0 0 0 0 0 66 34 100
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[# 3] O

2l
(23] ddEHME 680 X2HE HEE dHA 2EHBO

Al

=~

th=el o/ & oo o

SHO| ZHL7?

R %
ig 7;35 HH HEES A dE IHE s 7|E
A AFFHI# Araﬂc’# 7I§A?41i éiﬂl 2= OF}J ﬂinﬂfA% RE/RSH A
() @) A O F|OF otCt & O {OF BiC}
m MM m (1,000) | (1,000) 36 53 1 100
a4
=X (500) (495) 36 54 10 100
O{XH  (500) (505) 37 52 12 100
)
18-29M|| (142) (152) 29 47 24 100
30-39A1| (148) (150) 32 56 12 100
40-49Ml| (170) (172) 26 66 8 100
50-59A| (201) (196) 27 65 8 100
60-69A1| (183) (178) 44 50 7 100
70M| O|&t (156) (152) 62 28 10 100
HEX Y
AZ| (186) (186) 38 49 13 100
QIM/E7|| (323) (323) 35 53 13 100
CHE/MB/SHE| (109) (109) 30 60 10 100
23/MeH  (96) (96) 8 81 11 100
/4= | (98) (98) 58 35 7 100
BAZ24AE | (147) (147) 50 42 8 100
Z/MF|  41) (41) 23 65 12 100
A=A AS AN
A9l AZ| (231) (230) 36 56 7 100
=% AE| (409 (409) 37 53 10 100
skl AE| (327) (328) 36 50 13 100
2E/ESE| (33 (34) 32 40 28 100
ol'd g
R (237) (241) 13 81 5 100
=o| (368) (369) 26 63 11 100
Hz=l (326) (321) 69 22 9 100
DE/ESE| (69 (69) 23 37 40 100
X x|
=0T (389) (391) 8 89 3 100
=00l (312 (309) 85 7 8 100
ZIE M (50) (49) 2 88 10 100
IS (66) (66) 17 65 18 100
R (9) 9) 22 66 11 100
7|EFEE|  (14) (14) 56 29 15 100
glg/BE/2SE  (160) (163) 29 38 33 100
M 8 o
MIERZE| (874) (875) 37 55 8 100
A2ISEEF|  (81) (81) 33 44 23 100
HEEZS| 42 (42) 38 15 47 100
2E/E8E| B 3) 35 0 65 100
CHM Q14
dH TEE| (366) (363) 100 0 0 100
dH WA (525) (527) 0 100 0 100
DE/FSE| (109) (110) 0 0 100 100
Mz E XX =
O|ZHH| (464) (464) 7 89 4 100
ZEF| (313) (310) 88 5 7 100
O|=A| (80) (80) 20 56 24 100
a9 QZ| (20) (20) 60 30 10 100
Sa/RE/2SH| (123) (125) 24 38 39 100
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[E 4] M S5
[24] O] TIEZ MAHOM 2AS JHE S 12{sl0] EESIAAS LI

EHS
AL - O . - . .
R gz | mg | 752 #EA Lnq T2 Sed EXY
A A= | A st - olEqt oA ZeEs =M 7| Ef e A
. . 4= =< e ae 7ts%d Te=
€) €)
m HA m (1,000) | (1,000) 39 25 22 6 2 3 2 100
a4
=X (500) (495) 38 24 23 7 3 4 2 100
O Xt (500) (505) 40 27 22 5 2 2 100
i k]
18-29Ml| (142) (152) 30 39 18 8 1 2 3 100
30-39A|| (148) (150) 36 39 16 3 3 3 1 100
40-49M| (170) (172) 51 25 14 7 1 3 1 100
50-59A|| (201) (196) 46 22 20 5 1 5 1 100
60-69M|| (183) (178) 36 17 34 5 4 4 1 100
70M| O A  (156) (152) 35 12 32 10 4 1 5 100
AHAFXH
M| (186) (186) 32 25 26 8 3 4 3 100
/A7 (323) (323) 41 28 20 6 2 2 2 100
CHN/MS/SE|  (109) (109) 43 24 23 3 2 5 1 100
/™2 (96) (96) 49 25 6 4 2 9 3 100
OiT/4d%| (99 (98) 34 24 30 9 2 0 1 100
BA/SL/AdE| (147) (147) 37 23 29 6 3 1 2 100
ZR/HZF  @41) 41) 48 10 24 7 4 7 0 100
AN AT N
A2 AZE| (231) (230) 35 26 26 8 4 2 0 100
% AE| (409 (409) 43 26 19 5 2 4 1 100
stel AZs| (327) (328) 38 25 23 6 2 3 100
BE/23E| (33) (34) 33 12 34 4 0 3 15 100
ol'd ‘g
T (237) (241) 53 25 8 7 3 3 1 100
=] (368) (369) 43 25 20 6 2 4 1 100
H2=l (326) (321) 25 26 37 6 2 3 1 100
RE/RSHE| (69 (69) 36 21 20 4 3 1 14 100
XxEe
C=20{ I (389) (391) 58 24 3 7 4 3 1 100
2098l (312) (309) 22 19 47 8 1 2 1 100
Z2IHAMY|  (50) (49) 61 21 4 2 2 10 0 100
N (66) (66) 25 44 15 4 3 5 3 100
TR (9 9) 22 12 22 10 9 13 11 100
ZIEFEE (19 (14) 7 49 44 0 0 0 0 100
Sle/EE/28E| (160) (163) 31 29 27 3 1 6 100
M &8 of%
MIEHEZ| (874) (875) 42 25 21 6 2 3 1 100
AZEHZF|  (81) (81) 23 24 32 8 3 5 5 100
HEES| 42 (42) 22 26 26 7 2 5 12 100
BE/FSE| () (3) 35 0 65 0 0 0 0 100
CHM olA
HH MEHE| (366) (363) 21 25 43 7 1 0 100
dH WA|  (525) (527) 53 26 8 6 3 3 1 100
RE/ESEH (109 (110) 31 24 24 5 2 6 9 100
CfMzE XX =
O|ZHE| (464) (464) 58 24 3 7 3 4 1 100
AE| (313) (310) 19 20 50 7 1 2 1 100
O|=M| (80) (80) 16 56 14 5 2 5 1 100
a2 2= (20 (20) 5 55 20 5 0 10 5 100
A=/RE/RSH| (123) (125) 39 17 31 1 2 3 7 100
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[# 5] 22 XX g 22

292
[25] HEEHME Ol LHEE HAHOA == dE Al T2 & ofH Ao 718 2 s ¢S4

—

EHS
ZA S | *ME Hx%oi CiIIHE';‘ R _
A 2= == EH%%?% CHLHS ELT%*BI SHO| = pds= 7 HEy 2
ARzl | AfEIS (A ME B 9P| Ot 2 A o, S0 i o 2ggt
() () | U ERt gl gag S TUlEe e
m HA m (1,000) | (1,000) 38 15 15 15 4 4 6 3 100
a4
=X (500) (495) 39 14 17 14 3 4 7 2 100
Xt (500) (505) 37 16 12 16 5 4 6 5 100
ik
18-29Ml| (142) (152) 42 10 11 11 5 4 8 8 100
30-39M|| (148) (150) 42 19 14 13 3 1 8 1 100
40-49M1| (170) (172) 47 15 15 11 4 3 5 0 100
50-59A| (201) (196) 41 22 14 11 2 4 5 1 100
60-69M|| (183) (178) 36 14 16 20 3 5 5 3 100
70N O|&t  (156) (152) 19 9 20 24 7 6 6 8 100
AHAFXH
MNE| (186) (186) 40 12 10 20 4 4 7 3 100
AHX/E7l| (323) (323) 40 16 16 12 3 3 6 4 100
CHN/MS/2H8|  (109) (109) 35 14 15 17 5 5 5 4 100
2F/MatH  (96) (96) 63 16 8 2 1 1 4 5 100
/45| (99 (98) 27 20 25 15 5 3 4 1 100
BA/S2L/E8E|  (147) (147) 28 13 17 22 5 5 8 3 100
ZR/HFl  @41) 41) 35 21 10 8 5 6 11 5 100
AN AT N
22 AZE|l (231) (230) 38 14 18 19 3 5 3 0 100
% AE| (409 (409) 40 16 14 13 4 5 5 3 100
stel AZE| (327) (328) 37 15 13 15 4 2 9 4 100
BE/23H| (33) (34) 32 12 14 6 0 0 12 24 100
ol'd ‘g
TE| (237) (241) 59 16 10 5 1 3 6 0 100
Zo| (368) (369) 43 19 13 12 2 2 6 3 100
H4l (326) (321) 19 12 21 26 8 6 6 2 100
RE/RESH| (69 (69) 30 10 9 12 4 3 9 23 100
XxEe
=0{TFS (389) (391) 63 18 9 2 1 2 5 1 100
=00l (312 (309) 10 11 25 34 9 5 3 3 100
Z2=YMY|  (50) (49) 67 17 10 0 0 4 2 0 100
NS A (66) (66) 30 24 17 9 2 8 9 2 100
TEE (9 (9) 56 11 11 12 0 0 0 11 100
Z1EPEE (14) (14) 21 7 15 30 7 7 15 0 100
Sla/EE/2SE| (160) (163) 27 14 10 15 4 5 13 12 100
M &8 of%
HIEHZEZ| (874) (875) 40 14 16 15 3 4 6 3 100
ASEREZF|  (81) (81) 23 22 9 13 8 4 12 9 100
HEES| (42 (42) 26 22 5 23 7 0 7 9 100
BE/EZE|  (3) (3) 0 35 30 0 0 0 0 35 100
CHM olA
A MEZE| (366) (363) 14 10 26 31 8 5 4 2 100
WA (525) (527) 59 18 8 4 1 3 5 1 100
BE/£SE| (109 (110) 16 19 8 12 5 2 19 19 100
CfMzE XX =
O[THF| (464) (464) 63 18 9 2 1 2 5 1 100
UEE| (313) (310) 9 8 28 35 9 4 4 3 100
o|=A| (80) (80) 28 25 13 11 2 7 11 1 100
a9 2l=F| (20 (20) 20 10 5 35 5 10 15 0 100
A=/RE/RFSH| (123) (125) 26 18 6 11 4 6 12 17 100
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[E 6] X7 LHEH =8 M4 1tA|
[26] Ui&d M7 20| X7 LiEY0| 71 N2 {ZASoF & ItMl= Ot & FA0(2tn Mzt L
Rl %
XA} 7|.7<7I- 7:|x-|| %D'—I 7H'c'>' ajl _T'_|-A-||
oz | meg |sma A% EA A LT oug ey
A N | e | my MEZROE g Tge 7 ogy A
€) €) oy = SEH; 74 CH A
m HA m (1,000) | (1,000) 52 17 17 6 3 4 1 100
gd
=X (500) (495) 49 16 19 7 2 5 1 100
O{XH (500) (505) 55 18 14 5 4 2 1 100
il
18-29Ml| (142) (152) 44 12 21 5 6 9 4 100
30-39Ml| (148) (150) 51 19 12 7 5 6 0 100
40-49M|| (170) (172) 52 27 9 8 2 2 0 100
50-59A| (201) (196) 53 19 15 6 4 3 0 100
60-69Af| (183) (178) 58 14 20 4 1 2 1 100
70N O|&H (156) (152) 53 11 24 7 1 2 3 100
HEX Y
M| (186) (186) 48 16 16 9 4 6 1 100
QIM/E7|| (323) (323) 52 18 18 5 2 4 2 100
HE/MB/SH| (109) (109) 55 16 16 5 3 4 1 100
ZZ/H™et  (96) (96) 48 26 16 5 1 1 2 100
CH/45=| (98) (98) 60 9 16 11 3 2 0 100
B2/ (147) (147) 50 18 18 4 5 4 1 100
ZRA/MFE] @ (41 62 14 12 4 8 0 0 100
AN As oy
ARl AZB| (231) (230) 53 18 14 7 4 4 0 100
2 A& (409) (409) 54 18 16 6 2 3 1 100
Skl AE| (327) (328) 50 16 19 6 3 5 1 100
RE/ESHE| (33 (34) 40 18 15 4 3 6 15 100
o|'d g
ZlH| (237) (241) 51 27 12 3 3 3 0 100
=L (368) (369) 50 20 18 7 3 2 0 100
H| (326) (321) 54 8 21 9 2 5 1 100
DE/FSE| (69) (69) 56 12 10 1 3 6 12 100
XX
HEO0{DIFE (389) (391) 52 29 11 4 2 2 0 100
=2lolgll (312 (309) 53 6 25 8 3 4 1 100
ZIHAMY|  (50) (49) 41 37 15 0 4 2 0 100
NS A (66) (66) 54 3 26 11 2 5 0 100
FEHEH  (9) (9) 68 10 22 0 0 0 0 100
7|EFEE|  (14) (14) 21 22 0 35 15 8 0 100
S2/2E/2SE| (160) (163) 53 10 14 4 6 7 4 100
M S8 ofsk
MIERZE| (874) (875) 52 19 16 6 3 4 1 100
A2IEESF|  (81) (81) 54 5 26 8 4 1 3 100
HEEZS| @42 42) 52 5 21 5 0 12 5 100
RE/ESE| B (3) 70 0 0 0 0 0 30 100
CHM QIA
HAH TE=| (366) (363) 53 6 25 9 3 5 0 100
WA (525) (527) 52 27 11 4 3 2 0 100
RE/ESE| (109 (110) 50 5 19 6 2 11 7 100
CfMER XXz
O|ZHH| (464) (464) 52 30 10 4 2 2 0 100
AEF (313) (310) 51 7 25 9 3 4 1 100
O|EAM| (80) (80) 49 5 27 10 3 6 0 100
a9 QF| (20 (20) 40 25 5 15 0 15 0 100
SS2/2E/RSHE| (123) (125) 57 4 15 5 6 6 7 100
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(B 7] OBHAY EH A oA
[27] O|XHY =& MAHY AtAd RZ FK| ot7|2HS0] Cisf QEoTFE2 M 7Ho|2t S &4 S8 FUsD U
OO 2 AMHE S0 cipt Adfiatn M JSFLICH MEHAME o= AT O 7L 7}
FS
EIN, VS
et= == CHRHRAE EH 5= | OB E4 5= 5
o A | AR sHor sic siA= oreict =8/78H A
€) ()
m MY @ (1,000) | (1,000) 46 44 11 100
g4
=X (500) (495) 48 46 6 100
O{Xt| (500) (505) 44 41 15 100
o
18-29M1| (142) (152) 40 35 24 100
30-39M|| (148) (150) 45 40 14 100
40-49M(| (170) (172) 65 30 5 100
50-59A| (201) (196) 57 37 7 100
60-69M|| (183) (178) 36 57 7 100
70M| O|&tH  (156) (152) 26 65 9 100
HEX Y
M| (186) (186) 36 55 9 100
RIM/E7|| (323) (323) 50 39 11 100
CHN/MBS/3E| (109) (109) 42 45 13 100
/82 (96) (96) 77 15 9 100
/4= | (98) (98) 29 60 10 100
EA2L8E | (147) (147) 41 54 5 100
Z/MF|  41) (41) 48 24 29 100
BHE AS AN
o2 AZ| (231) (230) 43 52 5 100
=% AE| (409) (409) 50 40 10 100
skl AZ| (327) (328) 43 44 12 100
BE/2SE| (33 (34) 32 32 36 100
ol'd Mgk
R (237) (241) 74 18 9 100
Zo| (368) (369) 54 36 10 100
B (326) (321) 19 74 7 100
DE/ESE| (89 (69) 25 36 39 100
X X8
=0T (389) (391) 84 10 6 100
=00l (312 (309) 10 85 6 100
IS AL (50) (49) 84 8 8 100
NS A (66) (66) 20 73 8 100
LEG 9 9) 34 34 32 100
ZIEFEE|  (14) (14) 36 57 8 100
le/RE/RSEH  (160) (163) 22 46 32 100
M 8 o
MIERS| (874) (875) 49 42 9 100
A2ISEEF|  (81) (81) 22 50 28 100
HEEZS| 42 (42) 17 65 18 100
DE/ESE| 3 (3) 0 35 65 100
CHAM o114
dH TEE| (366) (363) 14 81 5 100
WAl (525) (527) 72 18 10 100
DE/FSE| (109) (110) 23 42 35 100
Mz E XX =
O|XHY| (464) (464) 84 10 7 100
A2 (313) (310) 8 87 5 100
O|=A| (80) (80) 21 67 12 100
a2 2F| (20 (20) 20 65 15 100
Sa/RE/2SH| (123) (125) 17 45 38 100
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[E 8] GAIASH JHEeHU&E YM Al AT FX|) 2H oA
(28] &8 24 SAI s Yo MM ZE HAF T2 SXSh= B 70| =T ASLCH
CHE & ol= Y& LSt LI
R %
aa R s o fhEolats
A aels | ARl | S MES w2 ool =B/FEE §
(@) () ZX|sljoF BtCt X ES Hrojop ShCh
m AN m (1,000) | (1,000) 37 60 3 100
g4
=Xt (500) (495) 41 57 1 100
O{XH  (500) (505) 32 63 5 100
ol
18-29M|| (142) (152) 16 80 4 100
30-39A1| (148) (150) 34 63 3 100
40-49M(| (170) (172) 52 44 3 100
50-59A| (201) (196) 54 44 2 100
60-69A1| (183) (178) 37 61 2 100
70M| O|&tH  (156) (152) 20 76 4 100
HEX Y
ME| (186) (186) 31 65 4 100
RIM/E7|| (323) (323) 38 60 2 100
CHN/MBS/3E| (109) (109) 34 64 2 100
23F/™eH  (96) (96) 62 32 6 100
/4= | (98) (98) 29 68 3 100
HAgi/AdY | (147) (147) 32 66 2 100
ZR/AF  41) 41) 40 55 4 100
BHE AS AN
o2 AZ| (231) (230) 42 57 1 100
=% AE| (409) (409) 36 61 3 100
skl AZ| (327) (328) 35 64 1 100
BE/2SE| (33 (34) 21 47 33 100
ol'd Mgk
R (237) (241) 60 39 1 100
Zo| (368) (369) 43 54 3 100
B (326) (321) 14 85 1 100
DE/ESE| (89 (69) 25 56 19 100
X X8
H=0RIFE| (389) (391) 70 28 2 100
=00l (312 (309) 6 92 2 100
zIHMY (50 | (49) 71 26 4 100
IHEAE  (66) (66) 21 79 0 100
R (9) 9) 21 68 11 100
ZIEFEE|  (14) (14) 0 93 7 100
le/RE/RSEH  (160) (163) 16 77 7 100
M 8 o
MIERS| (874) (875) 41 56 3 100
A2ISEEF|  (81) (81) 7 88 5 100
HEEZS| 42 (42) 7 88 5 100
DE/ESE  (3) (3) 0 65 35 100
CHM QI A
dH TEE| (366) (363) 9 89 2 100
WAl (525) (527) 62 36 2 100
DE/FSE| (109) (110) 6 83 11 100
Mz E XX =
O|ZHTH| (464) (464) 71 26 3 100
A2 (313) (310) 3 94 3 100
O|=A| (80) (80) 18 82 0 100
a2 2F| (20 (20) 20 75 5 100
Sa/RE/2SH| (123) (125) 7 87 6 100
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[E 9] EOTZE oM ==o| oA =ztof st oA
[29] QE00Y O|ME 2= 24 4 FXQO|LE QAE FUSt ASLICH
MU N M= ofof CHSH O{EA ‘HZsh L t?
R %
EIN, VS
A 2= & IAXMHMoz H2r} BHY™Moz HC} RnE/oort A
— Al‘E:"—/'\— A}'E:”—/F o O 1— — T O 11— [— o/ T oHd
€) ()
m HA m (1,000) | (1,000) 53 38 8 100
g4
=X (500) (495) 54 39 7 100
O{XH  (500) (505) 52 38 10 100
o
18-29M1| (142) (152) 41 37 22 100
30-39M|| (148) (150) 61 35 5 100
40-49M1| (170) (172) 68 25 7 100
50-59A| (201) (196) 65 29 7 100
60-69M|| (183) (178) 50 47 3 100
70M| O|&tH  (156) (152) 30 61 9 100
HEXH
ME| (186) (186) 48 44 8 100
RIM/E7|| (323) (323) 58 34 7 100
CHN/MBS/3E| (109) (109) 50 38 12 100
23F/™eH  (96) (96) 79 11 10 100
/4= | (98) (98) 39 53 8 100
EA2L8E | (147) (147) 39 52 8 100
ZR/AF  41) (41) 68 23 9 100
BHE AS AN
A2 A (231) (230) 53 44 3 100
=% AE| (409 (409) 55 37 8 100
skl AZ| (327) (328) 54 37 9 100
DE/FSE| (33) (34) 29 36 35 100
ol'd Mgk
R (237) (241) 80 16 3 100
Zo| (368) (369) 64 27 9 100
H4l (326) (321) 25 70 5 100
DE/ESE| (89 (69) 31 32 37 100
X x|
HEOo{ B (389) (391) 90 4 6 100
=00l (312 (309) 11 83 6 100
Z2=YMY|  (50) (49) 90 6 4 100
NS A (66) (66) 49 47 4 100
R (9) 9) 56 22 22 100
ZIEFEE|  (14) (14) 15 85 0 100
gle/BE2/22EH  (160) (163) 39 39 22 100
M 8 o
HIEHZEZ| (874) (875) 56 38 7 100
A2ISEEF|  (81) (81) 38 37 26 100
HEES| 42 (42) 27 59 14 100
DE/ESE| 3 (3) 0 70 30 100
CHAM o114
dH TEE| (366) (363) 19 76 5 100
WAl (525) (527) 82 12 6 100
DE/FSE| (109) (110) 31 38 30 100
Mz E XX =
O|ZHH| (464) (464) 90 5 5 100
A2 (313) (310) 10 84 6 100
O|=A| (80) (80) 40 51 9 100
a2 2F| (20 (20) 21 74 5 100
Sa/RE/2SH| (123) (125) 35 37 28 100
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EH2
T A
otz
A B Moz o=z Hr} /2 A
€)
m MY @ (1,000) 36 50 14 100
g4
EFXH (500) 37 53 10 100
O{Xt  (500) 35 48 18 100
o
18-29M1| (142) 27 44 29 100
30-39M|| (148) 31 54 15 100
40-49M(| (170) 30 59 11 100
50-59AM| (201) 28 61 11 100
60-69A| (183) 46 47 7 100
70M| O|&| (156) 54 32 14 100
HEXH
A=Z| (186) 40 49 11 100
RIM/E7|| (323) 33 53 14 100
CHE/MS/58|  (109) 30 57 12 100
23F/™eH  (96) 21 63 16 100
CH/ZS|  (98) 49 43 8 100
SA/SA/EE (147) 42 37 20 100
ZR/AF  41) 32 50 18 100
BHE AS AN
o2 AZ| (231) 37 55 8 100
=% AE| (409 39 49 12 100
skl AZ| (327) 31 52 17 100
BE/2SE| (33 29 23 48 100
ol'd Mgk
R (237) 21 72 7 100
=L| (369 29 57 14 100
B3| (326) 59 31 10 100
DE/ESE| (89 17 31 52 100
X x|
=0T (389) 12 76 12 100
=00l (312 73 18 9 100
ZEMY| (50) 14 71 16 100
IHEAE  (66) 21 70 9 100
R (9) 47 42 11 100
ZIEFEE|  (14) 50 35 15 100
le/RE/RSEH  (160) 32 38 31 100
M 8 o
HIERZ| (874) 36 52 12 100
A2ISEEF|  (81) 37 37 26 100
HEES| 42 33 46 21 100
DE/ESE| 3 35 0 65 100
CHAM o114
dH TEE| (366) 68 23 9 100
H3A WwH| (525) 16 73 12 100
DE/FSE| (109) 27 32 41 100
Mz E XX =
O|ZHTH| (464) 12 77 12 100
HdEF| (313) 77 15 8 100
O|=A| (80) 24 61 16 100
3 e 21F| (20) 44 45 10 100
ga2/EE/R2SE| (123) 30 34 36 100
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ol

T A
2
e et sagsic citc A
€)
m MY @ (1,000) 70 21 100
g4
SXH (500) 72 20 100
Xt (500) 67 22 100
ol
18-29M| (142) 67 18 100
30-39A| (148) 70 20 100
40-49M(| (170) 76 16 100
50-59A| (201) 75 15 100
60-69M|| (183) 67 29 100
70M| O|&| (156) 61 30 100
HEXH
ME| (186) 68 24 100
RIM/E7|| (323) 73 18 100
CHE/MS/58|  (109) 67 20 100
23F/™eH  (96) 83 11 100
CH/ZS|  (98) 62 27 100
SA/SA/EE (147) 60 28 100
Z/MF|  41) 76 16 100
BHE AS AN
o2 AZ| (231) 76 19 100
% AZ| (409) 69 21 100
skl AE| (327) 69 22 100
BE/2SE| (33 38 27 100
ol'd Mgk
R (237) 87 7 100
S| (368) 77 15 100
B3| (326) 52 40 100
DE/ESE| (89 49 15 100
X x|
=0T (389) 88 7 100
=00l (312 46 46 100
ZEMY| (50) 83 3 100
WAL (66) 88 8 100
R (9) 64 13 100
7|EFEE|  (14) 73 13 100
le/RE/RSEH  (160) 59 20 100
M 8 o
HIERZ| (874) 71 21 100
23EES| (81) 57 19 100
HEEZS| 42 67 21 100
DE/ESE| 3 35 0 100
CHM QI A
dH TEE| (366) 50 43 100
WAl (525) 85 8 100
DE/ESEH  (109) 61 13 100
[fMEE X|X|=
O|ZHEH| (464) 86 7 7 100
HdEF| (313) 46 46 8 100
O|=A| (80) 78 13 9 100
a2 2F| (20 61 39 0 100
ga2/EE/R2SE| (123) 64 15 22 100
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[(# 12] 88 XX &=

[E12&E12-1] MMEAME O F ol FYE XXstdL? FE2 =02 ZHEE|ASUCH
& O3, = Mo 250|2tT O ZZ0| 7t= HOI7tg? 259 =02 Sz =2(A& LUt
el %
EIN, Vst o
" 2z | 8 |coigo =@ xz w2 NS s
= Al | At | BIRE =] ST = e °o{°q S
(Do;') (Do;') o o HA
m MH @ (1,000) | (1,000) 39 31 5 7 1 1 15 1 100
a4
=X (500) (495) 39 29 6 10 1 1 14 1 100
Oo{XH  (500) (505) 39 33 4 3 1 2 17 1 100
i k]
18-29M| (142) (152) 26 22 2 14 1 1 29 4 100
30-39M|| (148) (150) 44 21 3 8 0 2 21 1 100
40-49M1| (170) (172) 56 18 4 4 1 3 14 0 100
50-59A| (201) (196) 47 25 11 6 1 1 9 0 100
60-69M| (183) (178) 35 42 5 6 1 1 10 1 100
70N O|&t  (156) (152) 23 59 2 2 1 1 12 1 100
AHAFEXH
ME| (186) (186) 33 35 4 8 1 2 18 1 100
AHX/E7l| (323) (323) 43 27 4 7 1 2 16 1 100
CHE/MS/2H| (109) (109) 34 32 4 7 1 3 17 3 100
/™2 (96) (96) 68 2 13 5 1 1 9 1 100
Oi/4d%| (98) (98) 24 50 2 8 2 0 14 0 100
SA/Z2L/8E| (147) (147) 29 42 4 7 0 1 14 2 100
ZBRA/MFT|  41) 41) 51 23 7 0 2 0 16 0 100
AN AT N
o9 AFZ| (231) (230) 34 31 6 11 2 1 15 0 100
% AE| (409 (409) 40 33 5 5 1 1 15 0 100
stel A=E| (327) (328) 42 28 5 6 1 2 16 1 100
BE/23H| (33) (34) 30 32 0 3 0 0 20 14 100
ol'd ‘g
TE| (237) (241) 72 5 4 4 2 3 10 0 100
=o| (368) (369) 43 21 9 8 1 1 17 0 100
H4l (326) (321) 11 63 2 9 0 1 14 0 100
RE/RESH| (69 (69) 29 26 2 0 1 3 30 10 100
XxEe
=0{TFS| (389) (391) 100 0 0 0 0 0 0 0 100
=ololsl|l (312 (309) 0 100 0 0 0 0 0 0 100
Z2=YMY|  (50) (49) 0 0 100 0 0 0 0 0 100
NS A (66) (66) 0 0 0 100 0 0 0 0 100
REEH  (9) (9) 0 0 0 0 100 0 0 0 100
7|EFEE  (19) (14) 0 0 0 0 0 100 0 0 100
gle/EE2/22EH  (160) (163) 0 0 0 0 0 0 94 6 100
M &8 of%
HIEHZEZ| (874) (875) 42 31 5 7 1 1 12 1 100
ASEREZF| (81) (81) 21 36 0 8 0 1 29 5 100
HEES| 42 (42) 5 24 5 5 2 5 55 0 100
BE/EZE|  (3) (3) 0 35 0 0 0 0 35 30 100
CHM olA
A MEE| (366) (363) 9 72 0 3 1 2 13 0 100
WA (525) (527) 66 4 8 8 1 1 11 1 100
BE/£SE| (109 (110) 11 22 4 11 1 2 45 4 100
CfMzE XX =
O[THFE| (464) (464) 80 1 10 1 1 0 5 1 100
AR (313) (310) 0 88 0 0 1 2 9 0 100
o|=A| (80) (80) 5 5 2 65 1 0 22 0 100
3 9 2l=F| (20 (20) 5 14 0 16 0 20 45 0 100
A=/RE/FSH| (123) (125) 9 18 2 4 1 2 59 5 100
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